= A
N = 0] &F AF S & AN A
T 204 LEtSIH  JIEISYs A S A=
D 22X A
QX SO =XJ|E 2=
HE =Y x4 (B9 ®R)
(o
CEB - HS(3H) - HBAY - B Ol At o ﬁ}lgﬁ HRE2
ni: 937,570,781 834,700,625 102,870, 156
= 662,742,103
g 9,950,000
Jl 3,050,896
& 261,827,782
SAO EXJ|E 2= 22,714,603 21,168,943 1,545,660
= 9,881,452
g 9,950,000
Dl 36,180
= 2,846,971
A& EXEE =4 21,630,277 20,446,028 1,184,249
= 9,634,930
g 9,950,000
Dl 36,180
o 2,009,167
A3l £ HIopg =& 198,200 219,450 21,250
201 et 9| 37,200 30,450 6,750
01 AR 22l ] 37,200 30,450 6,750
OAS =S X Al O 9,000
OAZEXNSAMI HRME 235 29 3,000
OMIBERRAG 89 7,000
O A3 = XAl & ™D} 18,200
202 044 15,000 58,000 A 43,000
01 2Ll 15,000 15,000 0
OHNX EX&d =4 =4 15,000
203 ¥ 2 =&H| 50,000 55,000 A5,000
03 Al 2 =& 2 = X H| 50,000 55,000 A5,000
OMI2XNSE A =X 50,000
307 2iz2to| & 48,000 28,000 20,000
11 Al EXAIE B 48,000 28,000 20,000
AMIEIA ELWNE XS 40,000
LRAT AISIEXAILHE K& 8,000
308 XAHXIEHMSOIA 48,000 48,000 0
01 AIXSHMEMNEX= 48,000 48,000 0
OME=EXNNE 25 X 48,000
NS =AY J1gt &4 924,723 672,110 252,613
201 LBt Y| 7,700 7,700 0
01 AP 22| d| 7,700 7,700 0
OAMSZ2SHAMY F&X 4,700
OSU=2 XA SAIE =& 3,000
202 o4l 9,000 9,000 0




SH SNEHY
B 29K B49 =
Sl MW BXEY X

o2 %A (Crol:za)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 2L Y] 9,000 9,000 0
OXNAE=EXAY =& 9,000
307 212t0| & 472,543 303,410 169, 133
05 A2t E = 93,494 70,000 23,494
O AS=XF2 /AE2H 71,537
O AZEXNIH JsEL 21,957
10 Al SEXAIZEE2IHIBX 252,849 168,410 84,439
OLATAMIEXNE2AG 29 163,849
o¥HITCWy 22H 89,000
11 A SAAEE X 126,200 65,000 61,200
OLRJAZANS=XNSS223 24 50,000
OLJAANI=EXNUZ X 15,000
OSSR At =X AN AL =S
X & 61,200
308 X SHAMSOIA 435,480 352,000 83,480
01 HXHHNBMNEXS 435,480 352,000 83,480
OAl - 2 ASI=EXE2S 29 252,000
ZEorE 29 15,000
OXNYGAMIEBEEAN 43 118,800
OAZ A SXII& SAMXN ARHE =X 49,680
MEZBSSIAFY =& 111,610 105,000 6,610
307 212t0| & 111,610 105,000 6,610
10 Al SXAIEEE2IHIEX 111,610 105,000 6,610
OLJATAMNIBSEHILHNEH 29 111,610
NAMIABEHEAN =2 435 XN (=) 11,000 11,000 0
= 11,000
307 QI2t0| & 11,000 11,000 0
= 11,000
11 AMISAAEE X 11,000 11,000 0
OXNYGAMIEBEEAN 435 XN 11,000
= 11,000
At EX 018 ol X (=21) 1,459,500 2,404,500 A 945,000
= 1,459,500
308 AHXISHHSO0IA 1,459,500 2,404,500 A 945,000
= 1,459,500
01 AIXHMBAEXZ 1,459,500 2,404,500 A 945,000
OAtZl S X2 olA4Hl K& 1,459,500
= 1,459,500
S0s U4Eg SEAMAHA XNK(=Z1D) 1,134,840 1,134,400 440
= 1,134,840
308 XX SHHSOIH 1,134,840 1,134,400 440




2N
X ZH -
L= B

el

SXE3
=X SA2 =EXIE 7=
A& 2X8d X

(AL LS|

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 1,134,840
01 IXNHHBNEES 1,134,840 1,134,400 440
oOsd8s ¥EE SEAMHA X& 1,134,840
= 1,134,840
SEAt ZelAb 2lHl X (=2 1) 839,000 824,580 14,420
= 839,000
308 XX EHHSOIA 839,000 824,580 14,420
= 839,000
01 AXHHILEES 839,000 824,580 14,420
OSe At 2telA elAdl XI& 839,000
= 839,000
ANz SgAd el K& (22) 135,000 135,000 0
= 135,000
308 A EHHSOIA 135,000 135,000 0
= 135,000
01 HXNHHNBMNELS 135,000 135,000 0
OAZF SgAtd2el XA 135,000
= 135,000
F0ote SEXNAMEIA NS (22D) 36,180 704,350 A 668,170
J| 36,180
403 MtXISHH S =0l & 36,180 704,350 A 668,170
J| 36,180
01 AXSHMA=2E X 36,180 704,350 A 668,170
OO0ttt EXNAMBIA IHEXE 36,180
J| 36,180
ANaXEs MIAMBIA EXNAIY (EX)(ME)(=1) 10,343,556 9,481,916 861,640
s 9,714,800
< 628,756
308 XXIEHH SOl A 10,343,556 9,481,916 861,640
s 9,714,800
< 628,756
01 AXHHILEES 10,343,556 9,481,916 861,640
OXNGAS MHIASETHALS X 8,572,156
s 7,943,400
< 628,756
OJtat2tE &= XI& 1,717,000
s 1,717,000
OXNG A MHIAETIAY 224l XA 54,400
s 54,400
NEXEE MIMEA EXAIYE (BEX2)(ME)(=21) 336,000 306,000 30,000
(=)
ras 235,200
< 100,800
202 oddl 6,000 6,000 0




2N
X ZH -
L= B
el

EPARSE )

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

e 4,200
< 1,800

01 = LH o4 1l 6,000 6,000 0
OXNGAS MHIAETIAMY =& 6,000
s 4,200
< 1,800

307 21201 A 330,000 300,000 30,000
s 231,000
< 99,000

11 AL S XA E X 330,000 300,000 30,000
OZJAZTXNIAMIIMEIAXAHS 2H 330,000
as 231,000
< 99,000

A ESRHME X2 (=2) 5,956,968 4,447,722 1,509,246
= 5,955,000
S 1,968

301 LtE A= 7,638 1,722 5,916
= 5,670
< 1,968

0B A =RRAB A4S 7,638 1,722 5,916
OMI=R2F SAH| 1,968
OMI=EERE B 5,670
= 5,670

308 AHXIEHSOIA 5,949,330 4,446,000 1,503,330
= 5,949,330

01 HXNHHNBHEELS 5,949,330 4,446,000 1,503,330
OMII=2HE XA 5,949,330
= 5,949,330

NEXEE MIIAEIA SEXHALY 2 dXel 2 143,700 0 143,700
= 100,590
< 43,110

307 glz2tol & 143,700 0 143,700
= 100,590
< 43,110

02 HAFHAANGEEE 143,700 0 143,700
OXIG Al MHIA HEEAMHE 2 143,700
= 100,590
< 43,110

SENAE &5 29X 1,084,326 722,915 361,411
= 246,522
< 837,804

MEIEXAE 29 =2 732,152 519,555 212,597

307 21201 A 155,770 135,380 20,390

11 MBI = XA 2 X 155,770 135,380 20,390




2 S2XNEMY
M £ X FSA EXIIE 2=
Sl SXAL HED SN (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O AMISEXAIE SAX SX=E 152,010
SEAE SN2 S2LS FAs 3,760
308 AXISHXSOoIH 528,882 369, 175 159,707
01 AXHNBIMNEXZ 528,882 369, 175 159,707
OAl - 2 ASIEXAIE SAXN EXE 379,944
O3 UEZHAISE XA 100,000
OMeld A DAAE X3 25,080
OAZ S X AIE SALAH AoiE2E Jrdl XI& 23,858
403 MtXISHHMS K201 47,500 15,000 32,500
01 X SHHM A28 X 47,500 15,000 32,500
OZTEMIENNH JIs22 17,500
OENZ ZEAS=2XH HUE2L 30,000
AMSIEXAE SAL A XN (ZD)(RE) 352,174 203,360 148,814
= 246,522
& 105,652
307 QI2t0| ™ 352,174 203,360 148,814
= 246,522
& 105,652
11 A SAAEE X 352,174 203,360 148,814
OMI=SXAIE SAX HHOE X 352,174
= 246,522
< 105,652
BEHdALFM 245 5,382,000 963, 100 4,418,900
SEHAANY X 5,382,000 963, 100 4,418,900
BEHA XN L B=AY =4 5,233,000 639,700 4,593,300
201 LEt2 Y| 13,200 9,000 4,200
01 AFR2t2l bl 13,200 9,000 4,200
OZAZ=UA =4 B 9,000
OYYHIO ALY 4,200
307 QI2t01 & 663,000 584,000 79,000
B OIAHMYBPI2IHIEX 220,000 200,000 20,000
o=t 29Hl X& 220,000
10 Al SXNAIEEE2IHIEX 55,000 50,000 5,000
ok 223 29 XN 55,000
11 A SAAEE X 388,000 334,000 54,000
oA0Zd A=z HE L 24 XA 91,000
OBZIE A=A X & 42,000
OMAS =IISSA MEXH 32,400
OB=HM sdgs A& 178,000
O BEEHMEes 43 XN 5,000




SA: 2X™ 2
MY SEMAFY 243
Sl BEMYMY N (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O3 - 18 % LANEESE 1004 JIEAMY
=& 39,600
308 XX G SO|IA 4,534,800 46,700 4,488, 100
01 AIXSHMENMNEX= 4,534,800 46,700 4,488, 100
©O6-25 DG A XI& 20,000
OSEREBAN - 2= 2 =Hl X 30,000
OSgEs2A @A SHUHE X K& 10,000
OURE FHIU4Y X2 4,474,800
402 SI2vXHE0| & 22,000 0 22,000
01 It EANSE X (M) 22,000 0 22,000
Ok B23 & AMNE FXES N 22,000
AN BES2 Js2d 1 149,000 323,400 A 174,400
403 XX SHHS K20 & 149,000 323,400 A 174,400
01 XIS A=2E X 149,000 323,400 A 174,400
OMEZols & JsEY XN 149,000
o) xMESE 507,722,422 455,931, 186 51,791,236
= 426,289,646
& 81,432,776
MASS N3 22X A8 179,765,408 185,487,294 N5,721,886
= 161,453,874
& 18,311,534
MASs EEXE 248,000 248,000 0
201 LBt 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
OIZNMESIAIY =& 4,000
(OFAE=2-—-DNUNERE=F| 1,000
202 04| 8,000 8,000 0
01 2Ll 8,000 8,000 0
OMASEE XN HOH=EXN AH 8,000
308 XAXIGHMSO0I& 235,000 235,000 0
01 HXHHIMNEXS 235,000 235,000 0
OXAas 22X 235,000
222X N (=2D) 5,227,950 4,389,000 838,950
= 4,979,000
= 248,950
308 AMXISHMSOIA 5,227,950 4,389,000 838,950
= 4,979,000
= 248,950
01 AIXSHMENEXZ 5,227,950 4,389,000 838,950
o2=s=2X XA 5,227,950
= 4,979,000




2N SXEHD
o RO EMBEE
g2l NASES N F0sSX &8 (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| = 275,950
=0 S SAXN (=5 AE 22 XE)(=1) 2,559,463 2,435,707 123,756
= 1,791,624
< 767,839
308 AHXIEHHSOIA 2,559,463 2,435,707 123,756
= 1,791,624
< 767,839
01 HXNHHNBHNEELS 2,559,463 2,435,707 123,756
OL=2Ae 29 XA 2,559,463
= 1,791,624
< 767,839
L=0 S SN (=24 JsE2Z)(=1) 180,375 38,925 141,450
= 120,250
< 60,125
403 X SHHE A0l & 180,375 38,925 141,450
= 120,250
< 60,125
01 XM A=2E X 180,375 38,925 141,450
OL=0ANE JIs2d N 180,375
2 120,250
< 60,125
L= SEXNAE SAX BE 3,000 3,000 0
307 21201 A 3,000 3,000 0
AS S XA 82 X 3,000 3,000 0
Ok=o =SXAE BSAL L= 3,000
MA=0 KB (22) 169,551,121 173,171,802 A 3,620,681
2 152,991,000
< 16,560,121
308 AHAIEHHSOIA 169,551,121 173,171,802 A 3,620,681
=2 152,991,000
< 16,560,121
01 HIXNHHNBMNEELS 169,551,121 173,171,802 A 3,620,681
OMASN 169,551,121
= 152,991,000
< 16,560,121
nEs0 XA 304,131 317,743 A 13,612
308 XXM SOl A 304,131 317,743 A 13,612
08 WEII20HStE = 304,131 317,743 A 13,612
Ou=ss0 304,131
HMZFHMEAH KR (2D) 1,691,368 1,282,891 408,477
= 1,572,000
< 119,368
308 XX EHHSOIA 1,691,368 1,282,891 408,477
= 1,572,000




SN =XYYL

N2 E‘EJIE_T\EAC‘!%EQ
Sl HASS D HO=X A CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 119,368

01 AIKISHHENEXZ 1,691,368 1,282,891 408,477
OdlM&EH = 1,691,368
2 1,572,000
o= 119,368

o Z220II2 2d(9z220II22d9EE3H) 299,171,205 247,277,075 51,894,130
= 237,505,917
= 61,665,288

o230 A2 AMHIA XK (=2D) 292,929,797 242,090,785 50,839,012
= 234,343,838
& 58,585,959

201 et | 722,217 348,379 373,838
= 577,774
= 144,443

01 At 221 722,217 348,379 373,838
OFIE - AANE2E 722,217
= 577,774
= 144,443

403 XX SHHS K20 & 292,207,580 241,742,406 50,465,174
= 233,766,064
= 58,441,516

02 BI2SHUESXAE2ERAEAISHI 292,207,580 241,742,406 50,465,174
OXZ=dl HE=2 292,207,580
= 233,766,064
=} 58,441,516

OZ20 NASHMBALE(ZD)(AZ) 2,591,603 1,615,370 976,233
=2 2,192,447
& 399, 156

308 XAXISHSO0|I& 2,591,603 1,615,370 976,233
= 2,192,447
& 399, 156

01 IXHHNIMNEXS 2,591,603 1,615,370 976,233
o=o =g #3233 71,493
= 60,465
= 11,028
OL2Ad &« Hoe &7 2 XS 1,442,412
= 1,221,317
= 221,095
oOZ0 FE 243 81,929
= 69,220
== 12,709
OAHALME LS XY 995,769
2 841,445
& 154,324

ozggR =X 179,086 129,240 49,846
= 89,632




D SAEH Y

=

H
e
S
P
Z
o
H
A

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

< 89,454

201 L2l 10,000 20,000 A 10,000

01 At 2t 2l 6,000 16,000 A 10,000
09z Lery 6,000

03 &Ar2 Z I 4,000 4,000 0
oAz s 2ACIAL HEF 4,000

202 Od4dl 12,230 10,000 2,230

01 =2 LHA YI 12,230 10,000 2,230
Odz=0IR =& 12,230

308 XXM S0l A 156,856 99,240 57,616
= 89,632
< 67,224

01 IXNSHHBANEES 156,856 99,240 57,616
od&Edl XA 156,856
= 89,632
< 67,224

[ {M=1Rs]! 2,590,719 2,590,719 0

801 GilHI 8l 2,590,719 2,590,719 0

01 BHolli bl bl 2,590,719 2,590,719 0
©uldl bl 2,590,719

20199 At Z 2l M ERAH HE(=2)(A2) 880,000 850,961 29,039
= 880,000

308 XXM S0 A 880,000 850,961 29,039
= 880,000

01 AXNSHHBLAEES 880,000 850,961 29,039
Oz &l ALY 880,000
= 880,000

gl g - A& IR 28,785,809 23,166,817 5,618,992
= 27,329,855
< 1,455,954

g 2 NG=EX 88 =8 38,000 48,000 A 10,000

307 2Iz2t0l A 38,000 48,000 A 10,000

11 AISISAASEE = 38,000 48,000 A 10,000
OXNGRedE I2sHAY 25,000
oL MBS XNA 13,000

g2z, NAedy & FSNEMEH2G (22 24,958,104 19,330,403 5,627,701
= 23,704,410
< 1,253,694

308 XXM S0 A 24,958,104 19,330,403 5,627,701
= 23,704,410
< 1,253,694

01 AXSHHBLAEES 24,958,104 19,330,403 5,627,701




SN =NEH
o RO EMBEE
Ce: el g - g e (2 &HH)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
oxnEz2=z XN 19,712,421
= 18,571,428
o= 1,140,993
OXEZEHZ NA 2,136,185
= 2,023,484
== 112,701
OXNYGX&dH 29 3,109,498
= 3,109,498
a2, 9Ny 2 ZENEHdH2E(2D)( 515,000 505,000 10,000
)
= 361,000
= 154,000
307 QI2t0| ™ 515,000 505,000 10,000
= 361,000
= 154,000
10 Al SXAIEEE2IHIEX 515,000 505,000 10,000
OZ2AX&HH 2 515,000
= 361,000
& 154,000
NAREHE SN (2D) 277,000 0 277,000
= 277,000
403 XX S M S X201 A 277,000 0 277,000
= 277,000
01 MXHHAEE = 277,000 0 277,000
OX S XEdEH sHHH 277,000
= 277,000
XE AR 2R(2D) 58,445 57,500 945
= 58,445
308 XX SHHSOIA 58,445 57,500 945
= 58,445
01 AIXHMBAEXZ 58,445 57,500 945
© KHEHAFEI 2 2] 58,445
= 58,445
22 sEU=LSNAE LS NI (21D) 2,905,060 3,192,323 N 287,263
= 2,905,060
308 AXISHXSO0IH 2,905,060 3,192,323 N 287,263
= 2,905,060
01 AXHNBMNEXZ 2,905,060 3,192,323 N 287,263
o3I =zsE 1 NA 518,000
= 518,000
ouglsss XA 243,000
= 243,000
osUIN=sEE 2 XA 1,513,060
= 1,513,060
oxdUEsAISESH XN 631,000




SN =2XEYY
My RO EMBEE
ool 2@ MY - KHE N CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| = 631,000
22s8EAe=La23 e L3 XN (20)(2E) 34,200 33,591 609
= 23,940
== 10,260
307 2Iz2to| & 34,200 33,591 609
= 23,940
= 10,260
10 M SXAANEEHESIGHEX 34,200 33,591 609
OXNMEALAIAY Aet2HH N 34,200
= 23,940
& 10,260
SHRSHE SHEXTH 1,932,989 1,220,497 712,492
= 751,419
& 1,181,570
NEAN (H2SH 1,932,989 1,220,497 712,492
= 751,419
& 1,181,570
MM 29 =8 8,200 8,200 0
201 LBt ]| 5,000 5,000 0
01 AP 22| H| 5,000 5,000 0
ottHI =2t 29 5,000
202 044l 3,200 3,200 0
01 2L Y| 3,200 3,200 0
OMSALMHE AIY =& 3,200
CHAEIIE sdX& 475,589 433,655 41,934
308 XX SHHSOIH 475,589 433,655 41,934
01 AIXSHMENEXZ 475,589 433,655 41,934
OUXUEIIE EEX A 470,089
OUXEINIE SFAI 2203 5,500
MNEM2E HERZAD 43 A 40,000 140,000 A 100,000
307 QI2t0| & 40,000 140,000 A 100,000
02 QI2tAAMAIE E =X 40,000 140,000 A 100,000
OLd MEBANM=2=2 HWERK3 843 N 40,000
MEADEANS OH] Z20IQAIJNAS XK (=21D) 39,496 34,032 5,464
= 27,647
= 11,849
307 212t0| & 39,496 34,032 5,464
= 27,647
o 11,849
11 A EXAIEEX 39,496 34,032 5,464
OMEAZE QAINE K& 39,496
= 27,647




SH =SNEMY
N BMNNE BHAXH
Sl HEA HSEEH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| < 11,849
CEN =s4dH 2SN (=2) 350,704 32,110 318,594
=2 269,772
< 80,932
308 AHXIEHHSOIA 350,704 32,110 318,594
= 269,772
< 80,932
01 HXNHHNBHNEELS 350,704 32,110 318,594
OUESN SsHEH 2SN 350,704
= 269,772
< 80,932
CGEn ssdH Jis22 N (=21) 749,000 32,500 716,500
= 454,000
< 295,000
403 X SHHE A0l & 749,000 32,500 716,500
= 454,000
= 295,000
01 XM A=2E X 749,000 32,500 716,500
otgtM==s dH &XHl XI& 529,000
= 454,000
< 75,000
ottt ssdH Jls 22 90,000
OLEMN SsSHH A& X& 130,000
CIEtH SsS4dH 2 XN (ANSESHAY) 270,000 540,000 A270,000
308 XX EHHSOIA 270,000 540,000 A 270,000
01 X HHILEES 270,000 540,000 A 270,000
OXAEsAIY 29 270,000
25 0t N& 356,438,328 319,547,551 36,890,777
= 225,764,886
J| 3,014,716
< 127,658,726
Ots=XAMEA XI& 79,465,779 54,902,668 24,563,111
= 63,742,941
J| 3,014,716
< 12,708,122
Es0ts #dsd 54,200 64,000 29,800
201 Let24dH] 6,000 5,000 1,000
01 At 2teltl 6,000 5,000 1,000
Oots=X2d 2Ads 24 6,000
307 glz2tol & 38,200 59,000 20,800
11T M 2XASE EX 38,200 59,000 A20,800
OAN4d0lEs SAEATZXE 2 31,200
ootsXZzHs 29 7,000




AN SXEHD
g 21 0ts K&

el otssEXAHA X (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
308 XXM SO0 A 10,000 0 10,000
01 HIXNHHBHNEELES 10,000 0 10,000
omel FA HAEEYE XA 10,000
ots=XIJI2 29 410,000 71,000 339,000
307 eIzl & 410,000 71,000 339,000
10 ALSISXAIEEE 22X 410,000 71,000 339,000
OR30ls XNEXNINMEI2A 2 410,000
ots=4 XA 810,785 697,716 113,069
202 oddl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OOtz MY =& 6,000
308 XXM SO0 804,785 691,716 113,069
01 HXNHHNBHEELES 804,785 691,716 113,069
ogss Ots=4 798,065
OZA0IE TAE KR4 6,720
ES0ts Moty X& 391,352 349,422 41,930
308 XX EHHSOIA 391,352 349,422 41,930
01 X HHILEXS 391,352 349,422 41,930
Es0ts 4oty & 391,352
ANSEotsdH 298 N (=21) 6,740,352 6,270,720 469,632
= 5,616,960
< 1,123,392
308 XXM S0 A 6,740,352 6,270,720 469,632
= 5,616,960
= 1,123,392
01 AXNSGHBLAEES 6,740,352 6,270,720 469,632
OXgotsHH 29 6,740,352
= 5,616,960
< 1,123,392
e NA0tSHH XNE(=22) 237,936 236,736 1,200
= 198,280
< 39,656
308 XXM S0l A 237,936 236,736 1,200
= 198,280
< 39,656
01 IXNHHBMNEES 237,936 236,736 1,200
S NG0otsdy X2 237,936
= 198,280
< 39,656
NEotsdH S22 XJ(21) 197,316 197,317 A
= 164,430
= 32,886




AN SXEHD
g 21 0ts K&

e OISEXAHA X (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

308 XHXIEHSOIA 197,316 197,317 |
= 164,430
= 32,886

01 AIKISHHMEMNEXZ 197,316 197,317 A
OXNYASHEH ES2E &9 197,316
2 164,430
o= 32,886

XNE0tsSHE ER2Y KA (=2D) 78,797 78,798 A1
= 65,664
=} 13,133

308 NXICSHMSOIA 78,797 78,798 A1
= 65,664
& 13,133

01 IXHHIMNEXS 78,797 78,798 A
OXY0lsdH ERY 29 78,797
= 65,664
= 13,133

OFS=X DA X (27) 1,672,400 1,490, 160 182,240
= 1,393,667
= 278,733

308 XAHXIEHSOIA 1,672,400 1,490, 160 182,240
= 1,393,667
o= 278,733

01 AIXSHMENMNEX= 1,672,400 1,490, 160 182,240
OXYOl=sHEH Ots=X DA X& 1,672,400
= 1,393,667
& 278,733

XNA0tSHEH XKAC 29 (=21) 175,000 175,000 0
= 87,500
& 87,500

307 2iztol A 175,000 175,000 0
= 87,500
& 87,500

10 MM SAANEEHESIGHEX 175,000 175,000 0
OXY90lsSHH XNE 29 175,000
= 87,500
= 87,500

NOlSHE Bolg 22X (2D) 25,940 33,684 AT, 744
= 12,970
& 12,970

307 ©12+0I & 25,940 33,684 AT, 784
= 12,970
=} 12,970

10 A SEXNANEEHESIH EX 25,940 33,684 ANT, 744
OXYotsHdH HOter X 25,940




2N
D E= ot XE

el

X ZH
S =

EPARSE )

OFSSXAH A K&

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 12,970
= 12,970
ANSEotsdEH e NA(=1) 666,000 0 666,000
= 555,000
< 111,000
403 UHXSHHSA=0l& 666,000 0 666,000
= 555,000
< 111,000
01 HXSHMA=E X 666,000 0 666,000
OXYotsdH &3MA 666,000
= 555,000
< 111,000
NEotsdE 2 X2 578,580 508, 260 70,320
308 XXM S0l A 518,580 508, 260 10,320
01 IXNHHBNEES 518,580 508, 260 10,320
OXgotsdlH 28 252 X& 470,280
OXYotsdH SA&E<0 XA 48,300
403 XSS A=0l& 60,000 0 60,000
01 X SHMA=2E X 60,000 0 60,000
oOXdotsdH Jls2d XA 60,000
ANEotsdH 20 FAHS DA X 30,400 38,000 AT,600
308 XXM SOIA 30,400 38,000 AT,600
01 IXNHHBANEES 30,400 38,000 AT,600
OFN AN WA XI& 30,400
NEotsSHEH SALR 1= 28,400 16,400 12,000
201 2et24d] 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
OXNSOtSHE SAA W= 2,000
301 gt 4= 5,600 5,600 0
09 HALAHIEA S 5,600 5,600 0
ONSEFAI AH & 5,600
307 21201 A 20,800 8,800 12,000
11 AISI S XA E X 20,800 8,800 12,000
OXYotsdE =AM 8ote X& 20,800
geots g NA(=1) 647,064 688,256 AN 41,192
J| 595,980
< 51,084
308 XtXIEHH SOl A 647,064 688, 256 241,192
J| 595,980
= 51,084
01 AXSHBLELS 647,064 688, 256 AN41,192




2N
X ZH -
L= B

el

SXE3
25 03 A&

OFSSXAH A K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ogedots s+ 647,064
J| 595,980
< 51,084
=gl LAXE(=21) 1,064 8,653 AT7,589
J| 980
= 84
308 XXM SOIA 1,064 8,653 AT,589
J| 980
< 84
01 IXNHHBANEES 1,064 8,653 AT7,589
oYL=l 2R XA 1,064
J| 980
< 84
Qo E XA (=1) 25,202 52,257 A 27,055
J| 23,212
< 1,990
308 XX EHHSOIA 25,202 52,257 A 27,055
J| 23,212
< 1,990
01 AXSGHBLELS 25,202 52,257 A 27,055
oYLdlE XNA 25,202
J| 23,212
< 1,990
ZOols dLL=EEXTZ (1) 69,449 65,352 4,097
J| 63,966
= 5,483
308 XXM SO0 A 69,449 65,352 4,097
Il 63,966
S 5,483
01 IXNHHBHNEES 69,449 65,352 4,097
OZMOtE LLEREXS N 69,449
J| 63,966
< 5,483
AA0ots ItEs KA 23,500 23,500 0
307 21201 A 5,000 5,000 0
11T MISAASEX 5,000 5,000 0
ooy Jgal 5,000
308 AHAIEHHSOIA 18,500 18,500 0
01 HXNHHBHELS 18,500 18,500 0
oOYA=d=z XN 18,500
QESIE 088 B8 29X (=21) 813,469 695,960 117,509
J| 625,746
< 187,723
308 XXM SO0 A 813,469 695,960 117,509




AN SXEHD
g 21 0ts K&

¢ otsSSEXAMUA X (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2

Pl 625,746
== 187,723

01 AIKISHEMNEXZ 813,469 695,960 117,509
ORESOEs 08 25 &89 A& 813,469
Jl 625,746
= 187,723

IIEAEOIS AlHEE 2 X (=21) 70,200 73,450 A 3,250
= 49,140
=} 21,060

307 QI2t0| & 70,200 73,450 A 3,250
= 49,140
=} 21,060

06 282 70,200 73,450 N 3,250
oadlE2E=z ANA 70,200
= 49,140
= 21,060

Qlok - JIAQENOIS Al2IXZ2 XA (Z2D) 20,064 10,032 10,032
= 18,480
= 1,584

308 AXIEHSOIA 20,064 10,032 10,032
= 18,480
= 1,584

01 AIXSHMENMNEX= 20,064 10,032 10,032
oYY - JIE/AEOsS AMelxlEdl K& 20,064
= 18,480
= 1,584

OS2 XAHZI XN (=2D) 958,085 955,429 2,656
2 882,447
& 75,638

308 XAXIGHHM SO0l & 958,085 955,429 2,656
= 882,447
& 75,638

01 HXHHBIMNEXS 958,085 955,429 2,656
OOts2e A HX XA 958,085
= 882,447
== 75,638

OlS=EXAE JIsE2d XK (21) 20,800 70,388 N 49,588
Jl 16,000
o= 4,800

403 XX SHHMS K201 A 20,800 51,588 AN 30,788
J| 16,000
o= 4,800

1 ARSI 2E X 20,800 51,588 N 30,788
O0ts=EXNAE JIs22 20,800
J| 16,000
& 4,800




2N
X ZH -
L= B

el

SXE3
25 03 A&

OFSSXAH A K&

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OtsZANESAE 29 581,269 571,269 10,000
307 gl2tol & 581,269 571,269 10,000
10 AL SXNAIEEE2EH EX 581,269 571,269 10,000
OOISLANESAE 22 581,269
OISESAIII2 24(=21) 2,493,482 2,306,652 186,830
J| 1,246,741
< 1,246,741
307 g1+l & 2,493,482 2,306,652 186,830
J| 1,246,741
= 1,246,741
10 ALSISXAIEHE 22X 2,493,482 2,306,652 186,830
onts=EsdII2 29 2,493,482
J| 1,246,741
< 1,246,741
stimaliols & 22 (=21) 404,678 321,920 82,758
J| 311,291
< 93,387
308 XXIEHHSOIA 404,678 321,920 82,758
J| 311,291
< 93,387
01 AXHHILEES 404,678 321,920 82,758
OsthuloiolsdH 29 404,678
J| 311,291
< 93,387
stmiaiors &8 AAEXI(=1) 170,040 0 170,040
J| 130,800
< 39,240
403 UHXSHHSA=0l& 170,040 0 170,040
J| 130,800
< 39,240
01 XM A=LE L 170,040 0 170,040
Ostthuloiots &8 &REX 170,040
J| 130,800
< 39,240
Zo0|2 2Y 270,000 260,000 10,000
307 glz2+ol & 270,000 260,000 10,000
10 ALSISXAIEEE2EHEX 270,000 260,000 10,000
oZglla 24 270,000
IIERAEXNJAEH 29 609,500 419,000 190,500
307 21201 A 609,500 419,000 190,500
10 ALSISXAIEEE2GHEX 609,500 419,000 190,500
OJMNEAEXNAEH 29 609,500




2N
D E= ot XE

el

X ZH
S =

EPARSE )

OFSSXAH A K&

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

CEHAEE S&Ad &2 (=210) 4,603,000 4,989,000 A 386,000
= 4,603,000

308 XXX SO0 A 4,603,000 4,989,000 A 386,000
= 4,603,000

01 AXSHBAELS 4,603,000 4,989,000 A 386,000
Oots SEMUIA XI& 4,603,000
= 4,603,000

ors+4g 20 X2(=2) 54,839,595 32,854,041 21,985,554
= 49,402,875
< 5,436,720

308 XXM SO0l A 54,839,595 32,854,041 21,985,554
= 49,402,875
< 5,436,720

01 IXNHHBNEES 54,839,595 32,854,041 21,985,554
oots=2 =0 X= 54,839,595
2 49,402,875
< 5,436,720

Obs=% XXM AtHl X2 (=21) 23,862 52,773 A 28,911
= 21,145
= 2,717

308 KXIEH SO0l A 23,862 52,773 A 28,911
= 21,145
= 2,717

01 AXNSHHEBAMNEES 23,862 52,773 228,911
OOts==% XXM AtHl XA 23,862
= 21,145
< 2,717

BSEE0E NY4Y N (22) 699,774 0 699,774
= 649,074
S 50,700

308 XXX S0 A 699,774 0 699,774
= 649,074
< 50,700

01 AXSHBLEES 699,774 0 699,774
Es320s MHg+Y XA 699,774
= 649,074
< 50,700

AHEN SIS RYXV(2D) 24,224 0 24,224
= 22,309
= 1,915

308 XXM S0IA 24,224 0 24,224
= 22,309
< 1,915

01 IXNHHBANEES 24,224 0 24,224
OdHHEXsOtS RS XA 24,224




AN SXEHD
g 21 0ts K&

el otssEXAHA X (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 22,309
< 1,915
EEMHIA Z35t 276,972,549 264,644,883 12,327,666
= 162,021,945
< 114,950,604
EsAe 58 12,000 12,000 0
201 £8-2d | 6,000 6,000 0
01 At 22l 6,000 6,000 0
O3S 29 6,000
202 o4dl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
ESMY =& 6,000
BEg BERE2 A& 1,578,863 1,425,168 153,695
308 XXM SOIA 1,578,863 1,425,168 153,695
01 IXNHHBANEES 1,578,863 1,425,168 153,695
oSz 2E2RE=a & A& 1,578,863
SO XNAMH 2g9(=12) 416,432 388,546 27,886
= 208,216
< 208,216
307 21201 A 416,432 388,546 27,886
= 208,216
< 208,216
10 M2 SXNANEHE2IHEX 416,432 388,546 27,886
Ok SO0IEEXNJEH 28 XA 416,432
= 208,216
< 208,216
ANz SOIXNJHMEH JtdSs XN (=1) 15,000 12,000 3,000
= 12,500
= 2,500
308 XXM S0 A 15,000 12,000 3,000
= 12,500
< 2,500
01 IXNHHBNEES 15,000 12,000 3,000
OANZ SOBEANIALH J13LE XA 15,000
= 12,500
= 2,500
FO0IESEAJMEH 22 XA 28,000 28,000 0
308 XtXIEHH SOl A 28,000 28,000 0
01 AXNSHHBANEES 28,000 28,000 0
OANZE0IEEXNJAEH 29 X2 28,000
Helold nd BExus(=1) 72,320 71,652 668

H

36,160




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 36,160
307 glz2tol & 72,320 71,652 668
= 36,160
< 36,160
11 AISI S AASEE = 72,320 71,652 668
Ol old & Bxus 72,320
= 36,160
< 36,160
Helold gstEdH=3 XA 73,710 73,689 21
308 XXX SO0IA 73,710 73,689 21
01 IXNSHHBANEES 73,710 73,689 21
OMASE Ols gstEdHI=s NE 73,710
Helold s2ga X&d 273,760 277,100 A 3,340
308 XX EHHSOIA 273,760 277,100 A 3,340
01 AXSGHBLELS 273,760 277,100 A 3,340
ooeold & &4 A& 273,760
Oelold sdMd XN (=1) 752,050 542,312 209,738
= 578,500
S 173,550
403 AXISH M S X201 752,050 542,312 209,738
= 578,500
< 173,550
01 AXISHMA2E = 752,050 542,312 209,738
O0eold &3 752,050
= 578,500
< 173,550
Heoly #&(=21) 983,250 868, 106 115,144
= 655,500
= 327,750
403 MRS E X201 E 983,250 868, 106 115,144
= 655,500
= 327,750
01 XS M A=2EE 983,250 868, 106 115,144
O=2328 Heold &= 983,250
= 655,500
< 327,750
25 Ml & g4 & 75,000 340,000 A 265,000
308 XX EHHSOIA 10,000 0 10,000
01 AXSHBLELS 10,000 0 10,000
SE0E0d T2 K& 10,000
403 XAXISHH S X201 65,000 340,000 A 275,000
01 XXM A2E = 65,000 340,000 A 275,000




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oogoldceTv &x1 XI& 15,000
O0Eold JIsEd At 50,000
Helold nA HMd N& 1,573,343 1,571,759 1,584
308 XX EHH SOl A 1,573,343 1,571,759 1,584
01 AXSHBLELS 1,573,343 1,571,759 1,584
ONEold A HRML XA 1,573,343
Helold SARL 824 W1 88,000 53,000 35,000
307 glz2tol & 73,000 38,000 35,000
11T AISI S XA E = 73,000 38,000 35,000
O0Eold E52 M1 248 2 s XA 73,000
308 KXIEHS0IA 15,000 15,000 0
01 IXNSHHBANEES 15,000 15,000 0
OZENe ol eotsial 15,000
goteszs XNA(=21) 113,671,652 108,230,689 5,440,963
2 90,527,000
= 23,144,652
308 XXl EHH SOl A 113,671,652 108,230,689 5,440,963
= 90,527,000
< 23,144,652
01 AXSHBLELS 113,671,652 108,230,689 5,440,963
ogRotEsz XN& 113,671,652
= 90,527,000
< 23,144,652
AMZEHIE S MEIA M (210) 393,829 338,119 55,710
= 293,000
< 100,829
307 glz2tol & 36,940 33,900 3,040
= 18,470
< 18,470
10 M ZXNANEHE2IHE=S 36,940 33,900 3,040
OAIZHH BESAMHA H3XA(&20]2) 36,940
= 18,470
< 18,470
308 XXIEHSO0IA 356,889 304,219 52,670
= 274,530
< 82,359
01 IXNHHMEBAMNEES 356,889 304,219 52,670
OAIZHH EMHlA HSXA 356,889
= 274,530
< 82,359
Sy B2 X2 58,119,480 60,638,453 22,518,973
308 XXl EHH SOl A 58,119,480 60,638,453 22,518,973




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

01 AXSHHBLEES 58,119,480 60,638,453 A2,518,973
Oxclutd 252 XA 58,119,480

¥ g=sSg N (=2) 27,357,241 32,589,979 A5,232,738
= 21,756,000
< 5,601,241

308 XXM SOIA 27,357,241 32,589,979 A5,232,738
= 21,756,000
< 5,601,241

01 AXHHILEES 27,357,241 32,589,979 25,232,738
ojggs=<g A& 27,357,241
= 21,756,000
S 5,601,241

SSEol0IE X2 (=2) 3,276,180 3,369,084 A 92,904
= 2,585,520
< 690,660

308 MtXIEHSOIH 3,276,180 3,369,084 A 92,904
= 2,585,520
= 690,660

01 AXSHBLELS 3,276,180 3,369,084 A 92,904
O=380eod XN& 3,276,180
= 2,585,520
= 690,660

HEOOH s B2 11,154 10,010 1,144

308 XX EHSOIA 11,154 10,010 1,144

01 HIXNHHNBNEES 11,154 10,010 1,144
Ogeots gt B2 11,154

22 ZUHEH 28X (=21) 30,919 42,529 A 11,610
= 23,784
< 7,135

308 XXM SOIA 30,919 40,989 A 10,070
= 23,784
< 7,135

01 AXHHILEES 30,919 40,989 A 10,070
ORE ZLHEH 29 X& 30,919
= 23,784
S 7,135

WX oA XN (21) 45,937,116 37,883,938 8,053,178
= 30,816,220
< 15,120,896

308 MtXIEHMSOIH 45,937,116 37,883,938 8,053,178
= 30,816,220
< 15,120,896

01 HXNHHNBHELS 45,937,116 37,883,938 8,053,178
oOEswX@ olAddl XA 45,937,116




2N
X ZH -
L= B

el

SXE3
25 0ts XA
S AMEIA Z3

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

= 30,816,220
< 15,120,896

w2 HRMS XN (212) 21,199,984 14,869,471 6,330,513
= 13,837,000
< 7,362,984

307 glz2tol & 2,338,000 1,004,696 1,333,304
= 1,169,000
< 1,169,000

11T M SRAISE EX 2,338,000 1,004,696 1,333,304
O old CHM A XI& 2,338,000
= 1,169,000
< 1,169,000

308 XXM SOIA 18,861,984 13,864,775 4,997,209
= 12,668,000
< 6,193,984

01 AXHHILEES 18,861,984 13,864,775 4,997,209
OE=uwAd M2HMH XA 18,861,984
= 12,668,000
< 6,193,984

ool X2 (=1) 1,033,266 996,279 36,987
= 692,545
= 340,721

308 MtXIEHSOIH 1,033,266 996,279 36,987
= 692,545
< 340,721

01 HXNHHNBHEELS 1,033,266 996,279 36,987
oogolrd X& 1,033,266
= 692,545
< 340,721

HE2IZH (S 156,653 145,851 10,802
= 54,700
< 101,953

Jl=234l 69,858 65,926 3,932

EM2E JI=2Z 69,858 65,926 3,932

201 €2l 43,458 40,126 3,332

01 At 22l 42,458 39,126 3,332
ORN2Y AR 22l 42,458

02 2324l 1,000 1,000 0
ORNE2Y 2224l 1,000

202 o4l 15,000 14,400 600

01 = LH YI 15,000 14,400 600
OFNE2YE =UHHHI 15,000

203 R =&t 11,400 11,400 0




2N

g -/
HM: HYM2HAH (2X ™)
& 123l (chel & 9l)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 JI22HEYRFAH| 6,600 6,600 0
oO=% 6,600
04 EANSILR2F=XH| 4,800 4,800 0
©30¢! Ol ot 4,800
oleEdY|(220II22EE4aAH) 86,795 79,925 6,870
= 54,700
== 32,095
2= 2CIA 2Y9(=21) 86,795 79,925 6,870
= 54,700
= 32,095
101 e1214| 86,795 79,925 6,870
= 54,700
o 32,095
03 2IAHALZZHE = 86,795 79,925 6,870
09230 2elAH(2Y) 68,375
= 54,700
= 13,675
Oz 2CIAI 402 18,420
HEeES(SXAEZ) 43,223,786 35,723,497 7,500,289
WHEAHANXI= 43,223,786 35,723,497 7,500,289
olz220JI2 XNH 43,223,786 35,723,497 7,500,289
701 JIEISI HSEE2 43,223,786 35,723,497 7,500,289
01 JIEIS HE =2 43,223,786 35,723,497 7,500,289
O=Z2WHII2ELEIIH H&E2 43,223,786




